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Question: 1

You have finished your work,

(A) didn’t you
(B) won’t you
(C) have you
(D) haven’t you
Ans: D

haven’t you

Question: 2

Murugan doesn’t work hard,
(A) he works

(B) doesn’t he

(C) he does

(D) does he

Ans: D

does he

Question: 3

The boy wasn’t able to do it alone,

(A) didn’t he
(B) wasn’t he
(C) did he

(D) was he

?



Ans: D
was he

Question: 4

She comes from the family of Donovan,
(A) hasn’t he

(B) didn’t she

(C) do you

(D) doesn’t she

Ans: D

doesn’t she

Question: 5

It isn’t very early now,  ?
(A) isn’t it

(B) is it

(C) hasn’t it

(D) doesn’t it

Ans: B

is it



